6 by 6 Kakuro Addition Puzzles

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of
each vertical block the number on top. Each digit can only be used once per
block!

11 8 7 4 3
33 17 5 6
22 8 5

31 33

31 1Y 9
11 5 17 9 KU 2 5 4
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Answers

You can use the digits 1 to 9 to fill the empty cells so that the sum of each
horizontal block of cells equals the clue number on its left, and the sum of

each vertical block the number on top. Each digit can only be used once per
block!

191271 113 N]2)1
181316197 151216113
598 N5 6 |
g 11214 151618192
§ 6 1 123 1301815
361 222 N 339 178 ! 172 177 ) 83088
518131619 131615197
N2 3 ANE 3|
N9l6 |57 171819615
615|819 1219 1017
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